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QUESTION 1

Which command lists all file system paging areas with totals?
A. Ivinboot --s

B. swapinfo -ft

C. machinfo -v

D. swopon -1

Correct Answer: B

QUESTION 2

Stephanie in accounting and Chuck in marketing need access to the same directory named acct_ analysis. Stephanie is
in a group named acct while Chuck is in a group named mktg. The information for the directory is as follows:

-

drwxrwx— 2 stephanie  acct 96 Jun 27 0916 acct_analysis/

Which statements are true about this scenario? (Select two)

A. Chuck already has access to the directory

B. The directory is world readable

C. Chuck needs to be added to the acct group to gain access to the directory
D. The directory is writeable by the mktg group

E. Stephanie is the owner of the directory

Correct Answer: AE

QUESTION 3

If a user runs the kill command on a PID, which signal is sent to the process by default?
A. SIGSTOP

B. SIGTERM

C. SIGHUP

D. SIGKILL

Correct Answer: B
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QUESTION 4

The VAR=S (dace) command is an example of which kind of substitution?
A. A command substitution

B. A variable substitution

C. Atilde substitution

D. An alias substitution

Correct Answer: B

QUESTION 5

What are the main benefits of using nPars on Integrity servers? (Select three)
A. To have a more flexible resource allocation

B. To consolidate multiple servers into one complex

C. To eliminate single points of failure (SPOF)

D. To better protect applications in case of a power failure

E. To have the ability to run other operating systems

F. To have multiple electrically-isolated servers in one cabinet

Correct Answer. ABD
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